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1. Here is a line of math formulas: 𝐴 = 𝐴, 𝐴′ ⊂ 𝐴, 𝐴 ∩ 𝐴′ = ∅ and 𝐴𝑐 is open.

2. list items one by one in a new line

(1) 𝐴′ ⊂ 𝐴
(2) 𝐴 ∩ 𝐴′ = ∅
(3) 𝐴𝑐 is open
(4) 𝐴 = 𝐴

As you see, there is no problem al all.
But if we list the same formulas using columns, then there is a baseline problem.

3. list items in 4 columns

(1) 𝐴′ ⊂ 𝐴
(2) 𝐴 = 𝐴

(3) 𝐴 ∩ 𝐴′ = ∅ (4) 𝐴𝑐 is open

4. list items in 2 columns

(1) 𝐴 = 𝐴
(2) 𝐴′ ⊂ 𝐴

(3) 𝐴 ∩ 𝐴′ = ∅
(4) 𝐴𝑐 is open

(1) 𝐴′ ⊂ 𝐴

(2) 𝐴 = 𝐴

(3) 𝐴 ∩ 𝐴′ = ∅
(4) 𝐴𝑐 is open

(1) 𝐴′ ⊂ 𝐴
(2) 𝐴 ∩ 𝐴′ = ∅ (3) 𝐴 = 𝐴

(4) 𝐴𝑐 is open

(1) 𝐴′ ⊂ 𝐴
(2) 𝐴 ∩ 𝐴′ = ∅
(3) 𝐴𝑐 is open

(4) 𝐴 = 𝐴

(1) {𝑎} = {𝑎}

(2) {𝑏} = {𝑏, 𝑒}

(3) {𝑐} = {𝑏, 𝑐, 𝑑}

(4) {𝑑} = {𝑏, 𝑐, 𝑑, 𝑒}


